Nockfaste Alu-Nock Stodbanke Stal

Cam Attachment Alu-Cam / Nockenbefestigung Alu-Nock

Part.no 800026




Nockféste Alu-Nock Stédbanke Stal/Cam Attachment Alu-Cam/Nockenbefestigung Alu-Nock Sida/Page 2
Part.no 800026

Tjarspraya skruvarna vid montering/
Tar Spray the screws when mounting

250 Nm

Atdrages efter behov /

Tightened as needed

Vikt / Weight: 12,7kg

Art.nr Benédmning Description Bezeichnung
803074  |Monteringsplatta Stalstommar Mounting Plate Grundplatte

800002 |Ansl.platta Nockfaste Alu-Nock CONNECTION PLATE ANSCHLUSSPLATTE
211856 |Lasmutter LM6M lag M10 FZB LOCKING NUT LM6M LOW M10 FZB Sicherungmutter
211063 |Skruv M6S M10x30 FZB SCREW M6S M10x30 FZB Schraube

800003  [Underbygel Nockfaste Alu-Nock LOWER CLAMP Klemmbdigel

211861 |Lasmutter LM6M Hog M20 FZB LOCKING NUT LM6M HIGH M20 FZB Sicherungmutter
102851 |BRICKA WASHER SCHEIBE

800656 |[GUMMIPUCK RUBBER HEEL GUMMIABSATZ
810306 |Lasbricka Stodbanke Locking Plate Verriegelungsplatte
211175 |Skruv M6S M20x150 FZB Screw Schraube

Exle

Securing cargo. We invented the concept.

800026_DAT C

S|o|o|~|o|o|s|wlro|—

ExTe Fabriks AB, SE-820 41 Farila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se




